S KOS EOBERE T L OBk B4k CFEE314E4 A 1 H BE)

TTEUOBAA R
cie o |[RBITRAS Sy EF S HUE T 2 et ok Takit] 1= 0> B s
MBSO e 1 72 % s
A % & A A % | BepE
THE 48
s 2
\ o \ et 1
1% ﬁ%?%ﬁg%fTOE%\ Hehifi N Z i 60 014 st o
EyE Y — 3y L 5
U —J— +
- 120 | 42.4 | =
3 69 e
T 31
PR pat Bl 1
. BB D AR IS S S N R B A2 0% -
2B 2 1 2Kk N I LGRS -
HEXES 8
g 51
EE 22 4
FERE L 1l 24 | 8.5 f{
LT ) ™
qgp  |(DERELD IS T B A I s 22
(2) FAEK O Z AUITHEY 9 B k% ] 1 i
RBIREITRE 3l 27 | 9.5 %
BB | ™
7 51
REIE 3
(1) EA RO Z AU 2 s SEE ) EE
4k |(2) mEDHBARERICHES S HBREEL | 36 | 12.7 = 36 [12.7| #&
DY DARE OV U S T 5 s E# 32 %
7 36
ARE A 37
R R 5 )
(1) 6 I HBUT 2 s DA T O = AU AR R 1 g
5ip | AT DMk 47 | 16.6 |=EwkE 2| 47 |16.6 | AH
’ (2) & D HIFIR BRI SO & R s % O U
ST D FEAE KO T IUTH Y T DB e 1 %
TE 1
B 47
& 17
EE 5
) P oW T ;
p 2) & TR DRSS +
OB\ () s R OV 75 2 WS S IRl ey I R
(4) BE R O F 8O ” !
HHEE 1
7 29
&t 283 100




